

On minimal energies of trees of a prescribed diameter

Bo Zhou* and Feng Li

Department of Mathematics, South China Normal University, Guangzhou 510631, P.R. China
E-mail: zhoubo@scnu.edu.cn

Received 19 July 2005; revised 19 August 2005 / Published online: 6 January 2006

The energy of a graph is defined as the sum of the absolute values of all the eigenvalues of the graph. Let $\mathcal{T}_{n,d}$ denote the set of trees on n vertices and diameter d , $3 \leq d \leq n - 2$. Yan and Ye [Appl. Math. Lett. 18 (2005) 1046–1052] have recently determined the unique tree in $\mathcal{T}_{n,d}$ with minimal energy. In this article, the trees in $\mathcal{T}_{n,d}$ with second-minimal energy are characterized.

KEY WORDS: diameter, eigenvalue, energy, tree

AMS subject classification: 05C50, 05C35

1. Introduction

Let G be a graph on n vertices. The eigenvalues $\lambda_1, \lambda_2, \dots, \lambda_n$ of an adjacency matrix of G are called the eigenvalues of G . The energy of G , denoted by $E(G)$, is defined as

$$E(G) = \sum_{i=1}^n |\lambda_i|.$$

In chemistry, the energy of a given molecular graph is of interest since it is closely related to the total π -electron energy of the molecular represented by that graph [1,2]. For more details on the chemical aspects and mathematical properties of $E(G)$ see [1,3–5].

For a graph G , let $m(G, k)$ be number of k -matchings of G , $k \geq 1$, and define $m(G, 0) = 1$. If G is an acyclic graph on n vertices, then the energy of G can be expressed as the Coulson integral formula [1]

$$E(G) = \frac{2}{\pi} \int_0^{+\infty} \frac{1}{x^2} \ln \left(\sum_{k=0}^{\lfloor n/2 \rfloor} m(G, k) x^{2k} \right) dx.$$

*Corresponding author.

Thus $E(G)$ is a strictly monotonically increasing function of $m(G, k)$, $k = 1, \dots, \lfloor n/2 \rfloor$. This observation led Gutman [6] to define a quasi-order over the set of all acyclic graphs: if G_1 and G_2 are two acyclic graphs, then

$$G_1 \succeq G_2 \Leftrightarrow m(G_1, k) \geq m(G_2, k) \text{ for all } k \geq 1.$$

If $G_1 \succeq G_2$, and there is a j such that $m(G_1, j) > m(G_2, j)$, then we write $G_1 \succ G_2$. Therefore,

$$G_1 \succ G_2 \Rightarrow E(G_1) > E(G_2). \quad (1)$$

This increasing property of energy has been used in the study of extremal values of energy over some significant classes of graphs. For instance, Gutman [6] determined trees with minimal, second-minimal, third-minimal and fourth-minimal energies, and Zhang and Li [7] determined trees of a perfect matching with minimal and second-minimal energies. More recent results in this direction can be found in [8–14].

Let $\mathcal{T}_{n,d}$ be the class of trees on n vertices and diameter d , where $2 \leq d \leq n-1$. Obviously, $T \in \mathcal{T}_{n,2}$ is a star $K_{1,n-1}$, while $T \in \mathcal{T}_{n,n-1}$ is a path P_n . So we can assume in the following that $3 \leq d \leq n-2$.

A pendant vertex is a vertex of degree one, and a pendant edge is an edge incident with a pendant vertex. A caterpillar is a tree in which a removal of all pendant vertices makes a path. Let $T(n, d; n_1, n_2, \dots, n_{d-1}) \in \mathcal{T}_{n,d}$ be a caterpillar obtained from a path $v_0, v_1, \dots, v_d$ by attaching n_i ($n_i \geq 0$) pendant edges to v_i ($i = 1, 2, \dots, d-1$). Clearly, $n = d + 1 + \sum_{i=1}^{d-1} n_i$.

Yan and Ye [15] proved that $T(n, d; n-d-1, 0, \dots, 0)$ is the unique tree with minimal energy in $\mathcal{T}_{n,d}$. In this paper, we prove that the trees with second-minimal energy in $\mathcal{T}_{n,d}$ are $T(n, d; 0, 0, n-d-1, 0, \dots, 0)$ if $d \geq 6$, $T(n, 3; 1, n-5)$ if $d = 3$, $T(n, 4; 1, 0, n-6)$ or $T(n, 4; 0, n-5, 0)$ if $d = 4$ ($n \geq 7$), $T(n, 5; 1, 0, 0, n-7)$ or $T(n, 5; 0, n-6, 0, 0)$ if $d = 5$ ($n \geq 8$).

2. Preliminaries

Let G be a graph and u a vertex of G , we denote by $G-u$ the graph formed from G by deleting the vertex u and the edges incident with u . For two graphs G and H , $G = H$ means G and H are isomorphic.

Lemma 1. Let G and G' be two acyclic graphs. Suppose that u (resp. u') is a pendant vertex of G (resp. G'), being adjacent to the vertex v (resp. v'). If $G-u \succeq G'-u'$ and $G-u-v \succ G'-u'-v'$; or $G-u \succ G'-u'$ and $G-u-v \succeq G'-u'-v'$, then $G \succ G'$.

Proof. Let k be a positive integer. Since u is a pendant vertex of G , being adjacent to v , we have

$$m(G, k) = m(G - u, k) + m(G - u - v, k - 1). \quad (2)$$

Similarly,

$$m(G', k) = m(G' - u', k) + m(G' - u' - v', k - 1). \quad (3)$$

If $G - u \succeq G' - u'$ and $G - u - v \succ G' - u' - v'$, i.e., $m(G - u, k) \geq m(G' - u', k)$, $m(G - u - v, k - 1) \geq m(G' - u' - v', k - 1)$ and there is at least one j such that $m(G - u - v, j - 1) > m(G' - u' - v', j - 1)$, then by (2) and (3), $m(G, k) \geq m(G', k)$ for all k and there is at least one j such that $m(G, j) > m(G', j)$, and so $G \succ G'$. Similarly, if $G - u \succ G' - u'$ and $G - u - v \succeq G' - u' - v'$, then $G \succ G'$. $\square$

The following lemma follows easily from the definition of the quasi-order $\succeq$.

Lemma 2. Let G be an acyclic graph and G' a spanning subgraph (resp. proper spanning subgraph) of G . Then $G \succeq G'$ (resp. $G \succ G'$).

Recall that Hosoya's index of a graph G is given as $Z(G) = \sum_{k=0}^{\lfloor n/2 \rfloor} m(G, k)$. If G_1 and G_2 are acyclic graphs, then $G_1 \succeq G_2$ and $Z(G_1) > Z(G_2)$ will imply that $G_1 \succ G_2$. Recall also that the Fibonacci numbers f_n , $n = 2, 3, \dots$ are generated recursively from the relation $f_n = f_{n-1} + f_{n-2}$, using the initial conditions $f_0 = f_1 = 1$.

Lemma 3. For $2 \leq i \leq \lfloor n/2 \rfloor$, $i \neq 3$ and $n \geq 6$,

$$P_i \cup P_{n-i} \succ P_3 \cup P_{n-3} \succ P_1 \cup P_{n-1}.$$

Proof. Note that [1]

$$P_i \cup P_{n-i} \succeq P_3 \cup P_{n-3} \succeq P_1 \cup P_{n-1}$$

and $Z(P_s) = f_s$ for $s \geq 1$. So we only need to show that for $i = 2$ and $4 \leq i \leq \lfloor n/2 \rfloor$,

$$f_i f_{n-i} > f_3 f_{n-3} > f_1 f_{n-1}.$$

It is easy to see that $f_3 f_{n-3} - f_1 f_{n-1} = f_{n-5} > 0$ and $f_2 f_{n-2} - f_3 f_{n-3} = f_{n-6} > 0$. So $f_3 f_{n-3} > f_1 f_{n-1}$ and $f_2 f_{n-2} > f_3 f_{n-3}$.

Suppose that $4 \leq i \leq \lfloor n/2 \rfloor$. Define $f_{-1} = 0$. Then

$$\begin{aligned} f_i f_{n-i} - f_{i-1} f_{n-i+1} &= (f_{i-1} + f_{i-2}) f_{n-i} - f_{i-1} (f_{n-i} + f_{n-i-1}) \\ &= -(f_{i-1} f_{n-i-1} - f_{i-2} f_{n-i}) \\ &= (-1)^i (f_0 f_{n-2i} - f_{-1} f_{n-2i+1}) \\ &= (-1)^i f_{n-2i}, \end{aligned}$$

which implies that

$$f_i f_{n-i} - f_3 f_{n-3} = (f_{n-8} - f_{n-10}) + (f_{n-12} - f_{n-14}) + \cdots > 0,$$

i.e., $f_i f_{n-i} > f_3 f_{n-3}$. This proves the lemma. $\square$

Lemma 4. Let $T \in \mathcal{T}_{n,n-2}$ with $n \geq 6$. Then $T \succ P_3 \cup P_{n-3}$.

Proof. Let $v_0, v_1, \dots, v_{n-2}$ be a path of length $n-2$ in T . Then there is (exactly) one pendant vertex u outside this path. Suppose that u is adjacent to v_j ($1 \leq j \leq n-3$). Now by lemmas 2 and 3, $T - u = P_{n-1} \succ P_2 \cup P_{n-3}$ and $P - u - v_j = P_j \cup P_{n-2-j} \succeq P_1 \cup P_{n-3}$. By lemma 1, the result follows. $\square$

3. Main results

For $T \in \mathcal{T}_{n,d}$, assume in the following that $P(T) = v_0, v_1, \dots, v_d$ is a diametrical path and that $V_1(T)$ is the set of pendant vertices of T lying outside $P(T)$. Since $d \leq n-2$, $V_1(T) \neq \emptyset$. To determine the trees in $\mathcal{T}_{n,d}$ with second-minimal energy, we have to consider the cases $d \geq 6$, $d = 3$, $d = 4$, and $d = 5$ separately.

Theorem 1. Let $T \in \mathcal{T}_{n,d}$ with $d \geq 6$. If $T \neq T(n, d; n-d-1, 0, \dots, 0)$, $T(n, d; 0, 0, n-d-1, 0, \dots, 0)$, then $T \succ T(n, d; 0, 0, n-d-1, 0, \dots, 0)$.

Proof. Let $T_{n,d,1} = T(n, d; n-d-1, 0, \dots, 0)$ and $T_{n,d,2} = T(n, d; 0, 0, n-d-1, 0, \dots, 0)$.

Let u' be a pendant vertex of $T_{n,d,2}$ adjacent to the vertex v' of maximal degree (in fact, of degree $n-d+1$). Then $T_{n,d,2} - u' = T_{n-1,d,2}$ and $T_{n,d,2} - u' - v' = (n-d-2)P_1 \cup P_3 \cup P_{d-3}$.

For fixed d , we prove the result by induction on n .

If $n = d+2$, then there is a unique $u \in V_1(T)$ adjacent to some vertex v_j in $P(T)$. Since $T \neq T_{n,d,1}, T_{n,d,2}$, we have $2 \leq j \leq d-2$, and $j \neq 3, d-3$. Then $T - u = P(T) = P_{d+1} = T_{n,d,2} - u'$ and by lemma 3, $T - u - v_j = P_j \cup P_{d-j} \succ P_3 \cup P_{d-3} = T_{n,d,2} - u' - v'$. It follows from lemma 1 that $T \succ T_{n,d,2}$. Thus the result holds if $n = d+2$.

Suppose that $n \geq d + 3$ and the result holds for trees in $\mathcal{T}_{n-1,d}$ with $d \geq 6$. Let $T \in \mathcal{T}_{n,d}$ with $d \geq 6$, and $T \neq T_{n,d,1}, T_{n,d,2}$.

Suppose that there is a pendant vertex $u \in V_1(T)$ such that its neighbor v lies outside $P(T)$. Obviously $T - u \neq T_{n,d,1}$. By the induction hypothesis,

$$T - u \geq T_{n-1,d,2}.$$

Since $T - u - v$ contains a proper spanning subgraph $(n - d - 2)P_1 \cup P_3 \cup P_{d-3}$. By lemma 2,

$$T - u - v \succ (n - d - 2)P_1 \cup P_3 \cup P_{d-3}.$$

By lemma 1, $T \succ T_{n,d,2}$.

Now suppose that for any pendant vertex in $V_1(T)$, its neighbor lies on P , i.e., T is a caterpillar, say $T = T(n, d; n_1, \dots, n_{d-1})$, where v_i has degree $n_i + 2$, $i = 1, 2, \dots, d - 1$.

Case 1. $n_j \geq 1$ for some j with $2 \leq j \leq d - 2$. Let $u \in V_1(T)$ such that u is adjacent to v_j .

Subcase 1.1. $T - u = T_{n-1,d,1}$. Then one of v_1 and v_{d-1} , say v_1 , has degree $(n - d - 2) + 2$. Let $u_1 \in V_1(T)$ such that u_1 is adjacent to v_1 . Then $T - u_1 \neq T_{n-1,d,1}$. By the induction hypothesis,

$$T - u_1 \geq T_{n-1,d,2}.$$

Note also that $T - u_1 - v_1 = (n - d - 2)P_1 \cup T_1$ where $T_1 = P_d$ or $T_1 \in \mathcal{T}_{d,d-2}$. By lemma 2 or 4, $T_1 \succ P_3 \cup P_{d-3}$. So

$$T - u_1 - v_1 \succ (n - d - 2)P_1 \cup P_3 \cup P_{d-3}.$$

Now by lemma 1, $T \succ T_{n,d,2}$.

Subcase 1.2. $T - u = T_{n-1,d,2}$. Then one of v_3 and v_{d-3} , say v_3 , has degree $(n - d - 2) + 2$. Let $u_3 \in V_1(T)$ such that u_3 is adjacent to v_3 . Obviously, $T - u_3 \neq T_{n-1,d,1}$. By the induction hypothesis,

$$T - u_3 \geq T_{n-1,d,2}.$$

Note that $T - u_3 - v_3$ contains a proper spanning subgraph $(n - d - 2)P_1 \cup P_3 \cup P_{d-3}$. By lemma 2,

$$T - u_3 - v_3 \succ (n - d - 2)P_1 \cup P_3 \cup P_{d-3}.$$

By lemma 1, $T \succ T_{n,d,2}$.

Subcase 1.3. $T - u \neq T_{n-1,d,1}, T_{n-1,d,2}$. By the induction hypothesis,

$$T - u \succ T_{n-1,d,2}$$

and since $T - u - v_j$ contains a spanning subgraph $(n - d - 2)P_1 \cup P_j \cup P_{d-j}$, it follows from lemmas 2 and 3 that

$$T - u - v_j \succeq (n - d - 2)P_1 \cup P_3 \cup P_{d-3}.$$

Therefore, by lemma 1, $T \succ T_{n,d,2}$.

Case 2. $n_2 = \dots = n_{d-2} = 0$. Then $n_1, n_{d-1} \geq 1$ and $n_1 + n_d = n - d - 1$. Suppose without loss of generality that $n_1 \leq n_{d-1}$. Let $u \in V_1(T)$ such that u is adjacent to $v = v_{d-1}$. Since $n_{d-1} > 1$, we have $T - u \neq T_{n-1,d,1}, T_{n-1,d,2}$. By the induction hypothesis,

$$T - u \succ T_{n-1,d,2}.$$

Observe that $T - u - v = n_{d-1}P_1 \cup T_2 = (n - d - 1 - n_1)P_1 \cup T_2$, where $T_2 = T(d - 1 + n_1, d - 2; n_1, 0, \dots, 0)$. By lemmas 2 and 4, $T_2 \succeq (n_1 - 1)P_1 \cup T(d, d - 2; 1, 0, \dots, 0) \succ (n_1 - 1)P_1 \cup P_3 \cup P_{d-3}$ and then

$$T - u - v \succ (n - d - 2)P_1 \cup P_3 \cup P_{d-3}.$$

By lemma 1, $T \succ T_{n,d,2}$.

Combining Cases 1 and 2, we conclude that result holds for $T \in \mathcal{T}_{n,d}$ when $d \geq 6$. The theorem is thus proved. $\square$

Note that any $T \in \mathcal{T}_{n,3}$ is of the form $T(n, 3; a, b)$ with $a, b \geq 0$ and $a + b = n - 4$, and that $m(T(n, 3; a, b), 2) = (a + 1)(b + 1)$ and $m(T(n, 3; a, b), k) = 0$ for $k \geq 3$. We can easily have the following.

Theorem 2. Let $T(n, 3; a, b) \in \mathcal{T}_{n,3}$ with $1 \leq a \leq b$. Then

$$T(n, 3; a, b) \succ T(n, 3; a - 1, b + 1).$$

If $T \in \mathcal{T}_{6,4}$, then either $T = T(6, 4; 1, 0, 0)$ or $T = T(6, 4; 0, 1, 0)$. Obviously $T(6, 4; 0, 1, 0) \succ T(6, 4; 1, 0, 0)$.

Theorem 3. Let $T \in \mathcal{T}_{n,4}$ with $n \geq 7$. If $T \neq T(n, 4; n - 5, 0, 0)$, $T(n, 4; 1, 0, n - 6)$, $T(n, 4; 0, n - 5, 0)$, then $T \succ T(n, 4; 1, 0, n - 6)$.

Proof. If $n = 7$, then $T = T(7, 4; 1, 1, 0)$ and the result follows readily.

Suppose that $n \geq 8$ and the result holds for trees in $\mathcal{T}_{n-1,4}$. Let $T \in \mathcal{T}_{n,4}$, and $T \neq T(n, 4; n - 5, 0, 0)$, $T(n, 4; 1, 0, n - 6)$, $T(n, 4; 0, n - 5, 0)$.

Let u' be a pendant vertex adjacent to the vertex v' of degree $n - 4$ in $T(n, 4; 1, 0, n - 6)$. Then $T(n, 4; 1, 0, n - 6) - u' = T(n, 4; 1, 0, n - 7)$, $T(n, 4; 1, 0, n - 6) - u' - v' = (n - 6)P_1 \cup K_{1,3}$.

Suppose first that for some $u \in V_1(T)$ such that u and v_2 have a common neighbor v outside $P(T)$. Obviously, $T - u \neq T(n-1, 4; n-6, 0, 0)$, $T(n-1, 4; 1, 0, n-7)$.

If $T - u = T(n-1, 4; 0, n-6, 0)$, then T is the tree formed from $T(n-1, 4; 0, n-6, 0)$ by adding to one pendant vertex outside the path $P(T)$ a pendant edge. Note that $m(T, 2) = 3n-12$, $m(T(n, 4; 1, 0, n-6), 2) = 3n-13$, and $m(T(n, 4; 1, 0, n-6), k) = 0$ for $k \geq 3$. Thus $T \succ T(n, 4; 1, 0, n-6)$.

If $T - u \neq T(n-1, 4; 0, n-6, 0)$, then by the induction hypothesis,

$$T - u \succ T(n-1, 4; 1, 0, n-7).$$

Observe that $T - u - v$ contains a proper spanning subgraph $(n-7)P_1 \cup P_5$. By lemma 2,

$$T - u - v \succ (n-6)P_1 \cup K_{1,3}.$$

Now by lemma 1, $T \succ T(n, 4; 1, 0, n-6)$.

Now suppose that T is a caterpillar $T(n, 4; n_1, n_2, n_3)$ with $n_1 + n_2 + n_3 = n-5$. It is easy to see that $m(T, 2) = 2n-7 + n_1n_2 + n_2n_3 + n_1n_3$. If $n_2 = 0$, then since $T \neq T(n, 4; n-5, 0, 0)$, $T(n, 4; 1, 0, n-6)$, we have $1 < n_1 < n-6$ and $m(T, 2) = 2n-7 + n_1(n-5-n_1) > 3n-13$. If $n_2 \neq 0$, then since $T \neq T(n, 4; 0, n-5, 0)$, we have $1 \leq n_2 \leq n-6$ and so $m(T, 2) = 2n-7 + n_2(n-5-n_2) + n_1n_3 \geq 3n-13$ and $m(T, 3) = n_1n_2n_3 + n_2(n-4-n_2) > 0$. Note that $m(T(n, 4; 1, 0, n-6), 2) = 3n-13$, $m(T(n, 4; 1, 0, n-6), k) = 0$ for $k \geq 3$. It follows that $T \succ T(n, 4; 1, 0, n-6)$. This completes the proof. $\square$

If $T \in \mathcal{T}_{7,5}$, then either $T = T(7, 5; 1, 0, 0, 0)$ or $T = T(7, 5; 0, 1, 0, 0)$. Obviously $T(7, 5; 0, 1, 0, 0) \succ T(7, 5; 1, 0, 0, 0)$.

Theorem 4. Let $T \in \mathcal{T}_{n,5}$ with $n \geq 8$. If $T \neq T(n, 5; n-6, 0, 0, 0)$, $T(n, 5; 1, 0, 0, n-7)$, $T(n, 5; 0, n-6, 0, 0)$, then $T \succ T(n, 5; 1, 0, 0, n-7)$.

Proof. If $n = 8$, then T is one of $T_1 = T(8, 5; 1, 1, 0, 0)$, $T_2 = T(8, 5; 1, 0, 1, 0)$, $T_3 = T(8, 5; 0, 1, 1, 0)$, or T_4 , where T_4 is a tree obtained by joining a central vertex of P_6 to a vertex of P_2 . Let $T^* = T(8, 5; 1, 0, 0, 1)$. It can be easily checked from the following table that the result holds.

T	$m(T, 2)$	$m(T, 3)$	$m(T, 4)$
T_1	13	6	0
T_2	13	5	0
T_3	13	7	1
T_4	14	7	1
T^*	13	4	0

Suppose that $n \geq 9$ and the result holds for trees in $\mathcal{T}_{n-1,5}$. Let $T \in \mathcal{T}_{n,5}$, and $T \neq T(n, 5; n-6, 0, 0, 0)$, $T(n, 5; 1, 0, 0, n-7)$, $T(n, 5; 0, n-6, 0, 0)$.

Let u' be a pendant vertex adjacent to the vertex v' of degree $n-5$ in $T(n, 5; 1, 0, 0, n-7)$. Then $T(n, 5; 1, 0, 0, n-7) - u' = T(n-1, 5; 1, 0, 0, n-8)$, $T(n, 5; 1, 0, 0, n-7) - u' - v' = (n-7)P_1 \cup T(5, 3; 1, 0)$.

Suppose first that for some $u \in V_1(T)$ such that u and one of v_2 or v_3 , say v_2 , have a common neighbor v outside $P(T)$. Obviously, $T-u \neq T(n-1, 5; n-7, 0, 0, 0)$, $T(n-1, 5; 1, 0, 0, n-8)$.

If $T-u = T(n-1, 5; 0, n-7, 0, 0)$, then T is the tree formed from $T(n-1, 5; 0, n-7, 0, 0)$ by adding to one pendant vertex outside the path $P(T)$ a pendant edge. Thus $m(T, 2) = 4n-18$, $m(T, 3) = 5n-31$, $m(T, 4) = 2n-15$. Note that $m(T(n, 5; 1, 0, 0, n-7), 2) = 4n-19$, $m(T(n, 5; 1, 0, 0, n-7), 3) = 2(n-6)$, and $m(T(n, 5; 1, 0, 0, n-7), k) = 0$ for $k \geq 4$. So $T \succ T(n, 5; 1, 0, 0, n-7)$.

If $T-u \neq T(n-1, 5; 0, n-7, 0, 0)$, then by the induction hypothesis,

$$T-u \succeq T(n-1, 5; 1, 0, 0, n-8).$$

Observe that $T-u-v$ contains a proper spanning subgraph $(n-8)P_1 \cup P_6$. By lemma 2,

$$T-u-v \succ (n-7)P_1 \cup T(5, 3; 1, 0).$$

Now by lemma 1, $T \succ T(n, 5; 1, 0, 0, n-7)$.

Now suppose that T is a caterpillar $T(n, 5; n_1, n_2, n_3, n_4)$, where $n_1 + n_2 + n_3 + n_4 = n-6$ and the degree of v_i is $n_i + 2$ ($i = 1, 2, 3, 4$).

If $n_2 > 1$ or $n_3 > 1$, say $n_2 > 1$, then choose a pendant vertex u that is adjacent to the vertex $v = v_2$. If $\max\{n_2, n_3\} = 1$, say $n_2 = 1$, then one of n_1 and n_4 is at least 1, we may choose a pendant vertex u that is adjacent to the vertex $v \in \{v_1, v_4\}$ (of degree at least 3). In either case, $T-u \neq T(n-1, 5; n-7, 0, 0, 0)$, $T(n-1, 5; 1, 0, 0, n-8)$, $T(n-1, 5; 0, n-7, 0, 0)$. By the induction hypothesis,

$$T-u \succ T(n-1, 5; 0, n-7, 0, 0).$$

On the other hand, $T-u-v$ contains a spanning subgraph $(n-8)P_1 \cup P_2 \cup P_4$, $(n-8)P_1 \cup P_2 \cup K_{1,3}$, $(n-8)P_1 \cup P_3 \cup P_3$, $(n-7)P_1 \cup P_5$, or $(n-7)P_1 \cup T(5, 3; 1, 0)$. By lemma 2,

$$T-u-v \succeq (n-7)P_1 \cup T(5, 3; 1, 0).$$

By lemma 1, $T \succ T(n, 5; 1, 0, 0, n-7)$.

We are left with the case $n_2 = n_3 = 0$. Since $T \neq T(n, 5; 1, 0, 0, n-7)$, we have $1 < n_1 < n-7$, and so $m(T, 2) = 3n-12+n_1(n-6-n_1) > 4n-19$ and $m(T, 3) = n-5+n_1(n-6-n_1) > 2n-12$. Therefore, $T \succ T(n, 5; 1, 0, 0, n-7)$. This completes the proof. $\square$

By theorems 1–4 and using the increasing property (1) of energy, we conclude that the trees $T(n, d; 0, 0, n - d - 1, 0, \dots, 0)$ if $d \geq 6$, $T(n, 3; 1, n - 5)$ if $d = 3$ ($n \geq 6$), $T(n, 4; 1, 0, n - 6)$ or $T(n, 4; 0, n - 5, 0)$ if $d = 4$ ($n \geq 7$), $T(n, 5; 1, 0, 0, n - 7)$ or $T(n, 5; 0, n - 6, 0, 0)$ if $d = 5$ ($n \geq 8$) achieve second-minimal energy in the class of trees on n vertices and diameter d .

By direct calculation (rounded to three decimal places), we have

$$E(T(7, 4; 1, 0, 1)) = 6.828, E(T(7, 4; 0, 2, 0)) = 7.596,$$

$$E(T(8, 5; 1, 0, 0, 1)) = 8.472, E(T(8, 5; 0, 2, 0, 0)) = 8.520,$$

$$E(T(9, 5; 1, 0, 0, 2)) = 9.060, E(T(9, 5; 0, 3, 0, 0)) = 9.050.$$

We are then led to conjecture that $T(n, 4; 1, 0, n - 6)$ ($n \geq 7$) and $T(n, 5; 0, n - 6, 0, 0)$ ($n \geq 9$) achieve second-minimal energy in the class of trees on n vertices and diameter d for $d = 4$ and $d = 5$, respectively.

Acknowledgments

This work was supported by the National Natural Science Foundation (no. 10201009) and the Guangdong Provincial Natural Science Foundation (no. 05005928) of China.

References

- [1] I. Gutman and O.E. Polansky, *Mathematical Concepts in Organic Chemistry* (Springer-Verlag, Berlin, 1986).
- [2] I. Gutman, *Topics Curr. Chem.* 162 (1992) 29–63.
- [3] I. Gutman, *Ber. Math.-Statist. Sect. Forschungszentrum Graz.* 103 (1978) 1–22.
- [4] I. Gutman, in: *Algebraic Combinatorics and Applications*, eds. A. Betten, A. Kohnert, R. Laue and A. Wassermann, (Springer-Verlag, Berlin, 2001) pp. 196–211.
- [5] I. Gutman, *J. Serb. Chem. Soc.* 70 (2005) 441–456.
- [6] I. Gutman, *Theoret. Chim. Acta (Berlin)* 45 (1977) 79–87.
- [7] F. Zhang and H. Li, *Discrete Appl. Math.* 92 (1999) 71–84.
- [8] H. Li, *J. Math. Chem.* 29 (1999) 145–169.
- [9] F. Zhang, Z. Li and L. Wang, *Chem. Phys. Lett.* 337 (2001) 125–130.
- [10] Y. Hou, *J. Math. Chem.* 29 (2001) 163–168.
- [11] L. Ye and R. Chen, *MATCH Commun. Math. Comput. Chem.* 52 (2004) 193–208.
- [12] F. Li and B. Zhou, *MATCH Commun. Math. Comput. Chem.* 54 (2005) 379–388.
- [13] J. Zhang and B. Zhou, *J. Math. Chem.* 37 (2005) 423–431.
- [14] J. Rada, *Discrete Appl. Math.* 145 (2005) 437–443.
- [15] W. Yan and L. Ye, *Appl. Math. Lett.* 18 (2005) 1046–1052.